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Question: 1 
   
Which command in Linux is used to add a user to the system? 
Response: 
 
A. adduser 
B. useradd 
C. newuser 
D. createuser 
 

Answer: B     
 

Question: 2 
   
If a computer is overheating, what is a likely cause? 
Response: 
 
A. Faulty motherboard 
B. Overclocking 
C. Dust buildup in vents or fans 
D. Inadequate power supply 
 

Answer: C     
 

Question: 3 
   
What advantage does GitOps offer in terms of audit trails and compliance? 
Response: 
 
A. Decreased auditability of changes 
B. A clear, version-controlled history of all changes 
C. Reliance on external audit tools 
D. Increased need for manual documentation 
 

Answer: B     
 

Question: 4 
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If a printer is not working, what should you check first? 
Response: 
 
A. If it has paper 
B. The printer’s drivers 
C. Network connectivity 
D. The printer's firmware 
 

Answer: A     
 

Question: 5 
   
Which technology isolates applications from the host system? 
Response: 
 
A. Virtual machines 
B. Containers 
C. Firewalls 
D. VPNs 
 

Answer: B     
 

Question: 6 
   
How can you resolve a driver conflict in Windows? 
Response: 
 
A. Format the hard drive 
B. Run a disk defragmentation 
C. Update or reinstall the driver 
D. Change the screen resolution 
 

Answer: C     
 

Question: 7 
   
What command is used to compress files in Linux? 
Response: 
 
A. zip 
B. compress 
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C. tar 
D. pack 
 

Answer: C     
 

Question: 8 
   
Which practice is commonly paired with GitOps for a comprehensive CI/CD pipeline? 
Response: 
 
A. Agile methodology 
B. Waterfall methodology 
C. Continuous Integration 
D. Manual integration 
 

Answer: C     
 

Question: 9 
   
How does GitOps enhance team collaboration? 
Response: 
 
A. By limiting access to the codebase 
B. Through clear documentation and version-controlled changes 
C. By eliminating the need for team meetings 
D. By automating team management 
 

Answer: B     
 

Question: 10 
   
Which cloud computing service model involves providing hardware and software tools over the 
internet? 
Response: 
 
A. IaaS 
B. PaaS 
C. SaaS 
D. FaaS 
 

Answer: B     
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